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Fifth Semester Examination — 2007

PRODUCTION AND OPERATIONS
MAMAGEMENT

Full Marks =70
Time ;: 3 Hours

Answer Question No. T which is compulsory
and any five from the rast,

. The figures in tha right-hand margin

indicate marks.

1. Answer the following questions : 2210

{a} Which type of manufacturing layout is ta
be followed for construction of an Hang-

ing Bridgs 7
E1.0,

(b} What do you understand by planbwithin-a-
./ piant {PWP) concept ?

(c] Whal do you understand by Decoupling
Q. Inveniory ? ' '

(s Whaidﬂ your undesstand by Diseconomies
of seale 7

{e}  What do you understand by system based
operating capabilities 7

{f)  What do you understand by Time-cost

model in Profect management 7

(@) What do you understand.hy Fieed time-
periad madel of Inventory system 7

(h} Whatdo 'ynu understand by the concept of
virual Fagtory ? '

(h Write down any treeadvantages of Group
Techrology fayaut,

() Write down any three Dualitative tachnigues

applied in forecasting.
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In a Factary, sight jubs are performed on two
machines (A and B). The time required for each
job on each machine is given below. On the
basis of the informalion, identify the optimal
sequence and caldulate the in and out time for
each job on each machine and the total efapsed
time. ' 10

“Jaob Whork Station - 1| Woark Station - 2
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A company involved in tha manufacture of two
whealars installs a haw assembly line wilh the
objective of praducing 100 units per 10 hour shift.
The work elamants and the relationships are as
per the bedow mentioned table. Draw network
dingrarm, work station cyele time, Number of werk
slalions and distribution of waork elements in g
wizrk station and the élﬁuiun{;*,ﬂ 10

F.T.0.

L3

Tasks thal must
preceds

Work Elemant | Time {Minutes)
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A, finm is seling two products, Chairs and Study
tabies, each at Rs. 500 perunit. Chairs have a
‘variable cost of Rs. 250 and Study tables of
As. 200. Fixed cost of the firm is Ra. 2,00,000.

(a) Ifthe sales mixis 1: 1{0ne Chair sold for
every Study Tablg sold), what is the break-
avan point in rupees of sales and in units
of Chairs ang Study Tables ? &

(b) ifthe salesmixchangesiol 4 {Dne Chair
sold far ewar;_.r {our Study Table sold}, what
is the break-eveh point in rupees of sales
and in units of Chairs and Stugy Tablas ?

5
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: the JIT purchasing system is diff .
5 A manufacturer identifies six potential markeat i SRR TR

: : ; traditional ifcy. - :
Iocations in a country it plans to enfer. Suggest PUrchasing system * 10
the best possible location to the manufaciurer . -Aprsiect has the folfowing list of activities aiong
so that il can minimize its ovaerall transportation With their time of completion, precedence
cost. The coondinates and volume te be moved relationship, normal and crash activity times and
hetwesn these localions ane given in the table, nomal and crash casts associated with it -

10
Activily | Precaifng | Reguirod Time IWeaks! Cazli{Fa.)
.ADT.- '.I: N ;

Potential Markats 'y ¥ Volume bl wmet | Cmsh | Mormal| Crask
& = 4 ? 10000 [ 11000

Lt 200- 280 130 B A 3 o 800 | opog

L2 350 .| 200. 120 2 = : 1 400 [ s0o

b g 5 3 14000 | 18000

L3 | 450- 500 . 115 E.. €.C 1 1 oo | soog

L4 70 - | @00 100 - £ = 3 2 000 | 2000

L5 760 100 & B 3 : sl

230 - H O£ 4 1 11000 | 1800

L6 a0 | aso. | 10s L ! H. G £ 5 20000 | 2a000

; t 3 ay Dra it e e
6. TheJustin-Time {JIT) purchasing system has @) wi the critical path and estimated
s ; : : Completion time.

nained sigmificant imporlance in the business H Hine 3
world in the last few years. It heips companies ta (b} T shoren the profect by three wesks, which
racluce arder size and try to time them close to task would be shortened and what would
theiir uses in production as possible. Explain how be the lotal praject cost 7 5
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8  Everyproduct passes through various stages in
the product lifa cycla, They are the Introduction,
Grawth, Maturity and Decline. The operations
strategy of an arganization is dependent on the
stage in which tha product is. Describe tha
major focus of operations strategy of an
organization in various stages of praduct life
ycle, ' 10
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